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K = 
  568.9961         0  643.2106 
         0  568.9884  477.9828 
         0         0    1.0000 

R1 = 
    0.4344    0.0271    0.9003 
   -0.0139    0.9996   -0.0234 
   -0.9006   -0.0024    0.4346 
 
t1 = 
   -1.8360 
   -0.1582 
    1.1219 

F = inv(K)'*Vec2Skew(t1)*R1*inv(K); 
 
F = 
    0.0000   -0.0000    0.0013 
   -0.0000    0.0000    0.0055 
    0.0016   -0.0010   -1.8055 
 
Rank = 
    2 
 
e1 = null(F); 
e1 = e1(1:2)/e1(3) 
e1 = 
    2167.6 
    1061.1 
 
e2 = null(F'); 
e2 = e2(1:2)/e2(3); 
e2 = 
  352.0323 
  877.7648 














